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It is comparable to a case where he - T IR MDY 927 90
originally knew about naw and subsequently forgot about n2w

Overview

The X723 concluded that according to 2R 27 both 7awaw pn and 37
Mow M0271 are 21 only one j27p. NMOIN will be discussing why the mwn
chose to mention oW 710271 7°27 and not 7aWIW PN,

— NAYIY 71N 1NT 1PN NIV PHINNA NaN XY 99157 D90Pa U9
“"'"w explains (that if we now assume that 72wiw P°n and [OW 710271 037
have the same ruling that he is 217 only one 7272 (for all the 2°naw), then
why does the mwn state now m027 7> and not 7awiw °n, which
presumably is a greater ¥17°17), that the reason that the ;712» does not state

the ruling of P yn oW, i.e. TAWIW P19, that he is 77X nXvA 270, for seemingly if
TAWIW PN is NAR 271 so certainly 7w 0371 7377 will be Nk 21, The reason the mwn
does not state it thus, is so -

— DAY Y3 DY 29N NIY §IDADY 99517 N1IIH XY
That there shall be no misconception that msw =m9a® =997, which

logically is more severe than mawiw »rn, will be 3»n for each 'naw.
Therefore the 7awn states that NAR XX 277 1R MOW 71027 057, and 2R 27 understand
that 72w1w ?1°n has the same ruling that X XX 2°°17 K.

n19o1n asks on *"'wA
— 11PY DIPN HINT PNY 13%249Y AU

And the 5"'9 has difficulty with s""w" explanation; for notwithstanding the
concern that we may think that mow 70271 27 will be naw o8 2m,
nevertheless the 71wn should teach us the ruling that 72w P1°n is XPX 270 WX
nny, and as far as any concern of misinterpretation concerning now 102121 737 -

— HNN NIN 2290 199N NIV §1DAD 9990 991 912 1D
Let the mwn teach us subsequently after 72wiw P10 that mow 71©@a» 757
is only 217 one 727p, and that would prevent any misconception.

However one may ask that this is duplicity? 19010 responds:
— YYII9TI RN 1OV D) NOY 410D 9991 25D DIYD 999 NI INNST

" The X2 previously assumed so.
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for previously the X9%23 asks in a similar fashion, when it asked: let it
state mow m1©@2% 9577 is NAw 75X 21 and certainly we would know that
Naw Py YT is NAw 99K 2°n, as previously explained’, that the intention was
not that it should not mention nNaw p°y ¥717 at all in the 7Iwn, but rather to mention
subsequently, that naw P>y Y7197 is 21 only naw 22K, so here too, we should first state
that 72w1w 21°n is 21 (only) one 127p, and therefore we will certainly know that =°37
moWw MD27 is 271, and to prevent any misconception, add a clause that 1R oW 710291 7°07
SPnR X9R 2707,

mooIn answers his question (on >"w7), that the reason why the miwn states row 710271 797
and not 72WIw 1°N is not because, as *"WA states, that then we might assume that =°37
mow M0a7 is “naw ax 21, but rather the reason why he states mow 710291 7737, is because

that reflects more accurately the intent of the miwn.
= NN JIWINYNRY NN NINT HRVN 2990 25 NIN AN INTIT PHYY 129299 AN

And it appears to the >'"9 that it is inappropriate for the 7wn to state the
case of 7awiw P°n and to derive from it the case of 7w o2 °37; for
certainly if the mw» would have taught us in the affirmative that he is 29n1
a NRwYr 1272, in which case the intent of the 71w» would be to inform us of

his 2157, that we should not suppose that he is 2109, then —
- 591 NIAY MINT NAYIY PN 2T 799505 7Y M

It would be appropriate to ask that the 7w» should teach us the case of

mawnaw PN, that (even) he is 21, for that is a greater novelty, than 57
now 027, because a 7AW PN never knew about N2w and nevertheless he is 27m,
therefore certainly now 710271 7377 will be 27n

— IPWNYNRY RNN NNVIT NNNX NIN 299N 19N 1INPT XNYN YaN

However now that the mwn» phrases its ruling in the limiting form that

“he is 2917 only one nXvr 127p; the intent of the 71wn is to inform us that he
1S MWD from more than one NXvA, then it is understood why the 7awn —

- 910 RIMAY MNT NAY §IDAD 9990 VD)

* See ax 1"7 'oIN.
?'91n could have seemingly brought proof instead from the last question of the X3, that it should state naw
MR MW w21 7ORON 99X 21 naw, see W' a"7 'own, that here too the intent was to state separately that
MK N is not N2w 73R 21 as Naw naw. Perhaps in this latter case the need to include a separate clause
for N1OR?M NAW is to limif its 211 as compared to NI Naw, as opposed to the case to which '01n compares it
to, that an additional clause is necessary that we should not have the misconception that naw Xw y717 is
more strict than 12w 70271 7°571. This mirrors more the concern here that 72w 710271 7°577 should be more
severe than 72wIw PN,
* Somehow, the Xin is not concerned about this misconception. See 2".
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states the case of maw mwa% 79271, that even then he is 211 only one 127p for

that is the greater novelty, that even mow m023%1 7°371 is 21 only one and certainly
7AW 211°N is 2°°11 only one.

mooIn is not satisfied with this explanation:

— NAVIY DINN MY BIPN YINT PNYS 135399 YD 11751)
however the s"=9 still has a difficulty with this explanation; that
notwithstanding all that was said, the mw» should have (also) stated the
case of maww PN, not for the purpose of teaching us that he is not 21 more than
once, but on the contrary —

— WIPY U 1IN 5393 NVST MY NYVI NYT
That we should not make the mistake of thinking that a 7awiw p1°n is

completely =mwp as "1 and ®"9 maintain;’ and in order to prevent any

misconception concerning f3w V2 737 —
:HAY 99029 9999 2305 97

So then afterwards the mwn» should state the case of maw 719291 79577, that
he is 2>°11 only once.

SUMMARY

"1 and MoOIN disagree as to why the 7wn states the case of 1w 710291 377
as opposed to maww pi°n. *"wA is of the opinion that if the 71wn would state
TawIw PN, we might assume that mow 70271 o7 will be naw Hox 27
Mmoo disagrees with this reasoning, for the 71wn could have added a clause
that mow 710271 7°077 is 21 only one NXLN (as, according to MHOIN, the R
intended to add clauses in its previous question[s]).

Moo explanation is; that since from the wording of the XX 217 1K" ,7awn
"nnR, it 1s evident that the 71w»n wants to teach us the limitation of the 21m,
obviously it is more appropriate to inform us of this limitation by 710271 77373

> Seemingly '01n should not need to bring proof from %" *"9, that we may assume that 72wiw p1°n would
be completely 1o, if the m1wn would only tell us the 211 by 21 X"w1n Y now 710271 7737, However were
it not for "1 °"1 one might argue that since the 71wn begins with a limiting statement that m3w 710371 77377 is
211 only once, which indicates that 7awiw P1°n is obviously 21, negating the need for an affirmative
statement. Similarly, if 7awiw P°n would be »13% Mo, why begin with a limiting statement that 21 12X
nnR X2X, why should we even assume that he would be 211 more than once (especially since a 7aww PN
is completely 7). Therefore '01n mentions 7" *"1 that we see they do not accept this inference. “v
"2 IR R"WAN.

The w"®17 'on does indeed answer this question of '0In, saying that X 27 follow the opinion of 7127
121117, and therefore it is a 21 72WIW PII°NT RVWDHT RN,
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now. mMooIn however remains with a question: Why not state them both in
order to avoid any misunderstanding concerning either 7awi¥ ?1°n that he
will not be 2>°17 (as "7 "1 maintain), or 7Y 7027 7077 that he be 72X 20
naw, the way the X 3 originally inferred.

THINKING IT OVER

What is more logical to assume: a) that if the 71wn states 72wIw PN is 20 a
1297 then NoW 027 %57 is N2W 7oK 20, or b) if the 71wn states 7027 7900
now 1s 211 only one 1272 then 7awiw 213°n would be completely 71057
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